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B. A. (Pass Course) 1st Semester
Examination — December, 2022

ECONOMICS-I

'g}ne : Three hours ] o [ Maximum Marks : 80

Before answering the qziestions, candidates should ensure that they
_have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.
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Note: Attempt five questions in all, selecting one
question from each Unit. Question No. 9 (Unit-V)

is compulsory. All questions carfy equal marks.
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1. Explain the law of demand. Mention the factors which
influence the demand for a commodity. ‘ 16
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2. Explain the degrees of price elasticity of dema‘l_
What is its importance in the field of business. 16
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3. E_xpla’in the law of Dirrﬁnishing marginal utility. How

is the consumer's demand curve derived throught law

of DMU? | 16
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4. What are indifference curves ? Discuss their main

properties. | e 16
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5. Explain the law of variable proportions. Why does this
law apply ? 16
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6. Discuss the main Properties of an isoquant curve. How
does a firm select optimum combination of productve
) factors with the help of these curves 2 16
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7. Why is short run average cost curve U—shaped ? Discuss
the rela[i:ionship Betweén average cost and marginal
cost. 16
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8. Define marginal revenue, average revenue and total
revenue. Explain the relationship between AR, MR and
TR. . 16
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9. Explain the following in brief :

Freg &t |y & arer SN

(i) - What is the problem of scarcity ?
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(i) Whatis socialism ?
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(iii)) Define cross elaéti;itybf demand.
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(iv) Define consumer surplus.
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(v) Expansion Path. |
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(vi) Define eias’dcity of supply.
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(vii) Implicit cost. ‘
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(viii)What is meant by break-even point ?
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